Procurement Department

Angusta.

G E / O R G I A

Mrs. Geri Sams, Director

#### LETTER OF INTENT TO PURCHASE EIGHTEEN (18) VEHICLES FROM THOMSON MOTOR CENTER

This letter of intent dated, April 16, 2024, is to inform you that the Central Services Department – Fleet Management Division has concluded that we intend to purchase: one (1) Dodge Durango Pursuit SUV for the Sheriff's Offices.

- 1. <u>Buyer</u>: Augusta, Georgia Central Services Department: Fleet Management Division
- 2. Seller: Thomson Motor Center: 2158 Washington Road, NE, Thomson GA 30824
- 3. **Vehicles Total Purchase Price**: \$840,749.26 as listed below:
  - a. One (1) Vehicle Sheriff's Office CID Admin Charger Package at \$40,534.15
  - b. One (1) Vehicle Sheriff's Office CID Admin Charger Package at \$40,534.15
  - c. One (1) Vehicle Sheriff's Office Civil Charger Package at \$41,340.81
  - d. Seven (7) Vehicles Sheriff's Office Patrol Charger Package at \$47,367.43
  - e. Five (5) Vehicles Sheriff's Office Patrol Charger Package at \$47,367.43
  - f. Two (2) Vehicles Sheriff's Office Traffic Charger Package V8 at \$49,363.47
  - g. One (1) Vehicle Sheriff's Office Patrol Durango Package at \$51,204.05

The specific specifications and pricing information for these purchases are attached.

A purchase order will be provided upon the approval of the Augusta, Georgia Commission.

Respectfully submitted,

Geri A. Sams

**Director of Procurement** 

Attachments: Vehicles Purchase Price / Specifications

Chaquesta G E O R G I A Central Services Department

Ron Lampkin, Interim Director Laquona Sanderson, Fleet Manager 2760 Peach Orchard Road, Augusta, GA 30906 (706) 821-7174 Phone (706) 796-5077 Fax

#### **MEMORANDUM**

TO:

Geri Sams, Director, Procurement Department

FROM:

Ron Lampkin, Interim Director, Central Services Department

DATE:

April 9, 2024

**SUBJECT:** 

Request to Purchase Police Vehicles from Thomson Motor Center

On behalf of the Richmond County Sheriff's Office, Central Services - Fleet Management request to purchase 17 Dodge Police Chargers and one Dodge Police Durango from Thomson Motor Center.

The vendor, Thomson Motor Center, informed Fleet Management that the Dodge manufacturing would not release the new pursuit vehicle until mid-2024; however, the vendor has stock inventory of 2023 Dodge Pursuit Chargers and a Durango available for purchase. The vendor is requesting a "Letter of Intent to Purchase" to hold the eighteen (18) vehicles needed for the Richmond County Sheriff's Office. The LOI will prioritize Augusta Richmond County vehicle purchases and guarantee pricing. Once Commission has approved the order, Fleet Management will acquire the purchase order and submit to the vendor for securing the asset purchases.

The following SPLOST VIII - Public Safety Vehicles account's will be used for the purchase of the eighteen vehicles:

Vehicle Package	Qty.	Price	To	tal per pkg.	
CID Admin Charger Package	1	\$ 40,534.15	\$		GL:330031310 JL:222039002
CID Admin Charger Package	1	\$ 40,534.15			GL:330031310 JL:222039007
Civil Charger Package	1	\$ 41,340.81	\$	41,340.81	GL:330031310 JL:222039002
Patrol Charger Package	7	\$ 47,367.43	\$	331,572.01	GL:330031310 JL:222039002
Patrol Charger Package	5	\$ 47,367.43	\$	236,837.15	GL:330031310 JL:222039007
Traffic Charger Package V8	2	\$ 49,363.47	\$	98,726.94	GL:330031310 JL:222039002
Patrol Durango Package	1	\$ 51,204.05	\$	51,204.05	GL:330031310 JL:222039002
Total for Charger & Durango Purchases	18		\$	840,749.26	

Thank you for your assistance. Please call if you have any questions or concerns in regard to this communication.

RL/kb





Mac McAlister Fleet Manager 2158 Washington Road NE, Thomson GA 30824 Oflice: 706-986-5714 Cell:706-699-1624

Balance Due					\$36,088.00
Units	1				
Tag					
000					
Sub Total					\$36,088.00
Spring 1 dtal			i		***
Options Total		The state of the state of the			
Available Opti	ons				
				Included in price	
Front Re	ading/Map Lamps	Black Left LED Spo	ot Lamp	included in price	
HD Cloth Buck	ket & Rear Bench Seats	Additional Non-Key A		included in price	
	MI MDS VVT Engine	8-Spd Auto 8HP70 Tra		Included in price	
Options Includ	led				
Sale Price				or supplied that	\$36,088.00
MSRP					
					\$45,500.00
Mileage:	10		ACV:		
Stock #:	10		Mileage:		
VIN:			VIN: Stock #:		
	SILVER AND GRANITE		Color:		
Year:	2023		Year:		
Model:	CHARGER PURSUIT V8	RWD	Model:		
Make	DODGE		Make:		
Fax:			1 400.1		
Phone:			Fax:		
			Phone:		
	AUGUSTA GA	30901	,		
	535 TELFAIR STREET S				
Duyer.	AUGUSTA GEORGIA		Cell:		



Admirarger hage Quote

Date	Quote #
3/26/2024	Q003

		_
Di	EII	To
Di	KII	- 14

Augusta-Richmond County Augusta, GA 30901 Ship To

Augusta-Richmond County 535 Telfair St. Augusta, GA 30901

Terms Net 30 Expiration Date 4/26/2024

Unit/VIN

Sales Rep Scott Peebles

Quantity	Item	Description	Install Location	Unit Price	Total
2	WHE-AVC11B	SINGLE AVENGER II SOLO BLUE		\$149.68	\$299.36
1	WHE-AVBKT5S	SINGLE HEADLINER MOUNT KIT		\$19.60	\$19.60
1	WHE-D4	4-LIGHT DOMINATOR TIR3 SERIES BLUE		\$263.14	\$263.14
2	WHE-DBKT4	DOMINATOR ANGLE MOUNT BRACKET		\$21.20	\$42.40
1	WHE-HHS4206	SIREN AMP W/ KNOB & SLIDE CTRL		\$620.00	\$620,00
1	WHE-SA315P	SA315P SPEAKER, BLACK PLASTIC		\$239.62	\$239.62
1	HAV-C-VS-2300-CHGR	VEHICLE-SPECIFIC 23" CONSOLE FOR 2021-2023 DODGE CHARGER		\$347.16	\$347.16
1	HAV-CUP2-1001	INTERNAL CUP HOLDERS		\$44.20	\$44.20
1	HAV-C-ARM-103	ARMREST FOR TOP MOUNT, CONSOLE, LARGE PAD		\$120.20	\$120.20
1	HAV-C-AP-0645-1	6" ACCESSORY POCKET, 4.5" DEEP		\$47.57	\$47.57
1	HAV-C-LP-3	3 LIGHTER PLUG OUTLETS		\$52.80	\$52.80
1	HAV-C-EB40-CCS-1P	1-PIECE EQUIPMENT MOUNTING BRACKET, 4" MOUNTING SPACE, FITS WHELEN CENCOM CCSRN, CCSRNTA, MPC03		\$0.00	\$0.00
3	HAV-C-FP-2	2" FILLER PLATE		\$0.00	\$0.00
1	MISC. NON-INVENTORY	FIRE EXTINGUISHER WITH BKT		\$110.0	\$110.10
17	LABOR	HOURLY RATE FOR INSTALL OF PRODUCTS NOTED		\$120.00	\$2,040.00
	WINDOW TINT			\$200.00	\$200.00



Date	Quote #
3/26/2024	Q00••

Subtotal

\$4446.15

Tax Total (0%)

\$0.00

Total

\$4446.15



Quote #

3/26/2024 Q002

Augusta-Richmond County Augusta, GA 30901 Augusta-Richmond County 535 Telfair St. Augusta, GA 30901

Terms Net 30 **Expiration Date** Unit/VIN Sales Rep 4/26/2024 Scott Peebles

Quantity	Item	Description	Install Location	Unit Price	Total
2	WHE-AVC11B	SINGLE AVENGER II SOLO BLUE		\$149.68	\$299.36
1	WHE-AVBKT5S	SINGLE HEADLINER MOUNT KIT		\$19.60	\$19.60
1	WHE-D4	4-LIGHT DOMINATOR TIR3 SERIES BLUE		\$263.14	\$263.14
2	WHE-DBKT4	DOMINATOR ANGLE MOUNT BRACKET		\$21.20	\$42.40
1	WHE-HHS4206	SIREN AMP W/ KNOB & SLIDE CTRL		\$620.00	\$620.00
1	WHE-SA315P	SA315P SPEAKER, BLACK PLASTIC		\$239.62	\$239.62
1	HAV-C-VS-2300-CHGR	VEHICLE-SPECIFIC 23" CONSOLE FOR 2021-2023 DODGE. CHARGER		\$347.16	\$347.16
1	HAV-CUP2-1001	INTERNAL CUP HOLDERS		\$44.20	\$44.20
1	HAV-C-ARM-103	ARMREST FOR TOP MOUNT, CONSOLE, LARGE PAD		\$120.20	\$120.20
1	HAV-C-AP-0645-1	6" ACCESSORY POCKET, 4.5" DEEP		\$47.57	\$47.57
1	HAV-C-LP-3	3 LIGHTER PLUG OUTLETS		\$52.80	\$52.80
1	HAV-C-EB40-CCS-1P	1-PIECE EQUIPMENT MOUNTING BRACKET, 4" MOUNTING SPACE, FITS WHELEN CENCOM CCSRN, CCSRNTA, MPC03		\$0.00	\$0.00
3	HAV-C-FP-2	2" FILLER PLATE		\$0.00	\$0.00
1	MISC. NON-INVENTORY	FIRE EXTINGUISHER WITH BKT		\$110.0	\$110.10
17	LABOR	HOURLY RATE FOR INSTALL OF PRODUCTS NOTED		\$120.00	\$2,040.00
	WINDOW TINT			\$200.00	\$200.00



Date	Quote #
3/26/2024	Q002

Subtotal

\$5252.81

Tax Total (0%)

\$0.00

Total

\$5252.81



Patrol

Quote

Date	Quote #
2/27/2024	Q001

Augusta-Richmond County
Augusta, GA 30901

Ship To

AUGUSTA-RICHMOND COUNTY 535 TELFAIR ST. AUGUSTA, GA 30901

Terms Net 30 Expiration Date 3/28/2024

Unit/VIN

Sales Rep Derek Smith

Item	Description	Install Location	Unit Price	Total
WHE-9SX8EEEE	EDGE 9SX DUO WCX 48" E/E/E/E	a	\$1,485.00	\$1,485.00
WHE-MKLP82	LO-PRO LIGHTBAR MOUNT KIT #82		\$0.00	\$0.00
WHE-C399S	CENCOM CORE REMOTE SIREN		\$935.00	\$935.00
WHE-C399RK3	OBDII CANPORT KIT DODGE		\$0.00	\$0.00
WHE-SA315P	SA315P SPEAKER, BLACK PLASTIC		\$165.00	\$165.00
WHE-SAK37	SA-315 SIREN MOUNT KIT CHARGER		\$0.00	\$0.00
WHE-VTX9E	VERTEX SUPER-LED DUO BLU/ WHT	•	\$88.00	\$352.00
HAV-C-VS-2300-CHGR	VEHICLE-SPECIFIC 23" CONSOLE FOR 2021-2023 DODGE CHARGER		\$347.16	<b>\$347.16</b>
HAV-CUP2-1001	INTERNAL CUP HOLDERS		\$44.20	\$44.20
HAV-C-ARM-103	ARMREST FOR TOP MOUNT, CONSOLE, LARGE PAD		\$120.20	\$120.20
HAV-C-AP-0645-1	6" ACCESSORY POCKET, 4.5" DEEP		\$47.57	\$47.57
HAV-C-EB40-CCS-1P	1-PIECE EQUIPMENT MOUNTING BRACKET, 4" MOUNTING SPACE, FITS WHELEN CENCOM CCSRN, CCSRNTA, MPC03		\$0.00	\$0.00
HAV-C-FP-2	2" FILLER PLATE		\$0.00	\$0.00
HAV-C-HDM-204	8.5" HEAVY-DUTY TELESCOPING POLE, SIDE MOUNT, SHORT HANDLE		\$151.80	\$151.80
HAV-C-MD-202	TILT SWIVEL MOTION DEVICE		\$61.38	\$61.38
HAV-C-HDM-304	HEAVY-DUTY SLIDING TOP OFFSET PLATFORM, 9" OFFSET		\$70.62	\$70.62
HAV-C-LP-3	3 LIGHTER PLUG OUTLETS		\$52.80	\$52.80
PGP-PSSP5604C11A	CENTER SLIDING POLY WINDOW		\$808.66	\$808.66
	WHE-9SX8EEEE WHE-MKLP82 WHE-C399S WHE-C399RK3 WHE-SA315P WHE-SAK37 WHE-VTX9E HAV-C-VS-2300-CHGR HAV-C-ARM-103 HAV-C-ARM-103 HAV-C-AP-0645-1 HAV-C-EB40-CCS-1P  HAV-C-FP-2 HAV-C-HDM-204 HAV-C-MD-202 HAV-C-HDM-304 HAV-C-LP-3	WHE-9SX8EEEE EDGE 9SX DUO WCX 48" E/E/E/E WHE-MKLP82 LO-PRO LIGHTBAR MOUNT KIT #82  WHE-C399S CENCOM CORE REMOTE SIREN WHE-C399RK3 OBDII CANPORT KIT DODGE  WHE-SA315P SA315P SPEAKER, BLACK PLASTIC  WHE-SAK37 SA-315 SIREN MOUNT KIT CHARGER  WHE-VTX9E VERTEX SUPER-LED DUO BLU/ WHT  HAV-C-VS-2300-CHGR VEHICLE-SPECIFIC 23" CONSOLE FOR 2021-2023 DODGE CHARGER  HAV-CUP2-1001 INTERNAL CUP HOLDERS  HAV-C-ARM-103 ARMREST FOR TOP MOUNT, CONSOLE, LARGE PAD  HAV-C-AP-0645-1 6" ACCESSORY POCKET, 4.5" DEEP  HAV-C-EB40-CCS-1P 1-PIECE EQUIPMENT MOUNTING BRACKET, 4" MOUNTING SPACE, FIT'S WHELEN CENCOM CCSRN, CCSRNTA, MPC03  HAV-C-HDM-204 8.5" HEAVY-DUTY TELESCOPING POLE, SIDE MOUNT, SHORT HANDLE  HAV-C-HDM-304 HEAVY-DUTY SLIDING TOP OFFSET PLATFORM, 9" OFFSET HAV-C-LP-3 3 LIGHTER PLUG OUTLETS	WHE-95X8EEEE EDGE 9SX DUO WCX 48" E/E/E/E  WHE-MKLP82 LO-PRO LIGHTBAR MOUNT KIT #82  WHE-C399S CENCOM CORE REMOTE SIREN  WHE-C399RK3 OBDII CANPORT KIT DODGE  WHE-SA315P SA315P SPEAKER, BLACK PLASTIC  WHE-SAK37 SA-315 SIREN MOUNT KIT CHARGER  WHE-VTX9E VERTEX SUPER-LED DUO BLU/ WHT  HAV-C-VS-2300-CHGR VEHICLE-SPECIFIC 23" CONSOLE FOR 2021-2023 DODGE CHARGER  HAV-CUP2-1001 INTERNAL CUP HOLDERS  HAV-C-ARM-103 ARMREST FOR TOP MOUNT, CONSOLE, LARGE PAD  HAV-C-AP-0645-1 6" ACCESSORY POCKET, 4.5" DEEP  HAV-C-EB40-CCS-1P 1-PIECE EQUIPMENT MOUNTING BRACKET, 4" MOUNTING SPACE, FITS WHELEN CENCOM CCSRN, CCSRNTA, MPC03  HAV-C-HDM-204 8.5" HEAVY-DUTY TELESCOPING POLE, SIDE MOUNT, SHORT HANDLE  HAV-C-HDM-304 HEAVY-DUTY SLIDING TOP OFFSET PLATFORM, 9" OFFSET HAV-C-LP-3 3 LIGHTER PLUG OUTLETS	WHE-9SX8EEEE         EDGE 9SX DUO WCX 48" E/E/E/E         \$1,485.00           WHE-MKLP82         LO-PRO LIGHTBAR MOUNT KIT         \$0.00           WHE-C399S         CENCOM CORE REMOTE SIREN         \$935.00           WHE-C399RK3         OBDII CANPORT KIT DODGE         \$0.00           WHE-SA315P         SA315P SPEAKER, BLACK         \$165.00           WHE-SAK37         SA-315 SIREN MOUNT KIT         \$0.00           WHE-VTX9E         VERTEX SUPER-LED DUO BLU/         \$88.00           WHE-VTX9E         VERTEX SUPER-LED DUO BLU/         \$88.00           HAV-C-VS-2300-CHGR         VEHICLE-SPECIFIC 23" CONSOLE         \$347.16           FOR 2021-2023 DODGE         \$347.16           HAV-C-UP2-1001         INTERNAL CUP HOLDERS         \$44.20           HAV-C-ARM-103         ARMREST FOR TOP MOUNT,         \$120.20           CONSOLE, LARGE PAD         \$47.57           HAV-C-AP-0645-1         6" ACCESSORY POCKET, 4.5"         \$47.57           DEEP         \$0.00         \$0.00           HAV-C-FP-2         2" FILLER PLATE         \$0.00           HAV-C-HDM-204         8.5" HEAVY-DUTY TELESCOPING POLE, SIDE MOUNT, SHORT HANDLE         \$151.80           HAV-C-HDM-304         HEAVY-DUTY SLIDING TOP OFFSET         \$70.62           HAV-C-LP-3



Date	Quote #
2/27/2024	Q001

Total

Quantity	Item	Description	Install Location	Unit Price	Total
1	PGP-S56C11OSB	CHARCOAL GREY ABS, STANDARD SEAT (FEATURES STRAIGHT BACK) AND OUTBOARD SEAT BELTS		\$699.27	\$699.27
1	PGP-FP56C06	CHARCOAL GREY ABS, FLOOR PAN		\$199.45	\$199.45
1	PGP-WB56C11	PAIR, STEEL WINDOW BARS (FOR USE WITH DP56C11 ABS REAR DOOR PANEL ONLY)		\$228.80	\$228.80
1	PGP-DP56C11	PAIR, BLACK ABS, REAR DOOR PANELS (FOR USE WITH WB56C11 & WBP56C11 ONLY)		\$133.70	\$133.70
1	PGP-GVPMS-H	VERTICAL PARTITION MOUNT SINGLE WEAPON TRI-LOCK GUN RACK W/HANDCUFF KEY		\$386.82	\$386.82
1	WINDOW TINT	WINDOW TINT- NEED SPECIFICS TO FINALIZE A PRICE. THIS ASSUMES ALL WINDOWS.		\$330.00	\$330.00
30	LABOR	HOURLY RATE FOR INSTALL OF PRODUCTS NOTED		\$120.00	\$3600.00
1	MISC. NON-INVENTORY	FIRE EXTINGUISHER & BRACKET		\$110.00	\$110.00
1	GRAPHICS	CUSTOM VEHICLE GRAPHICS- NEED CUSTOMER TO SIGN OFF ON DRAWINGS		\$950.00	\$950.00
				Subtotal	\$11,279.43
				Tax Total (0%)	\$0.00

This quote uses Wheelen, Havis and Proguard parts and equipment. Istallation on up to 12 vehicles is guaranteed to occur within 18 weeks of order, or 30 days of equipment delivery, whichever comes first.

\$11,279.43



Traffic

Quote

Date	Quote #		
3/26/2024	Q004		

Augusta-Richmond County
Augusta, GA 30901

Ship To

AUGUSTA-RICHMOND COUNTY 535 TELFAIR ST. AUGUSTA, GA 30901

Terms Net 30 Expiration Date 4/28/2024

Unit/VIN

Sales Rep Scott Peebles

Quantity Item Description Install Education Office 142 APE 00	\$1,485.00
1 WHE-9SX8EEEE EDGE 9SX DUO WCX 48" E/E/E/E \$1,485.00	1 1, 1001
1 WHE-MKLP82 LO-PRO LIGHTBAR MOUNT KIT \$0.00	\$0.00
1 WHE-C399S CENCOM CORE REMOTE SIREN \$935.00	\$935.00
1 WHE-C399RK3 OBDII CANPORT KIT DODGE \$0.00	\$0.00
1 WHE-SA315P SA315P SPEAKER, BLACK \$165.00 PLASTIC	\$165.00
1 WHE-SAK37 SA-315 SIREN MOUNT KIT \$0.00 CHARGER	\$0.00
4 WHE-VTX9E VERTEX SUPER-LED DUO BLU/ \$88.00 WHT	\$352.00
1 HAV-C-VS-2300-CHGR VEHICLE-SPECIFIC 23" CONSOLE \$347.16 FOR 2021-2023 DODGE CHARGER	\$347.16
1 HAV-CUP2-1001 INTERNAL CUP HOLDERS \$44.20	\$44.20
1 HAV-C-ARM-103 ARMREST FOR TOP MOUNT, \$120.20 CONSOLE, LARGE PAD	\$120.20
1 HAV-C-AP-0645-1 6" ACCESSORY POCKET, 4.5" \$47.57 DEEP	\$47.57
1 HAV-C-EB40-CCS-1P 1-PIECE EQUIPMENT MOUNTING \$0.00 BRACKET, 4" MOUNTING SPACE, FITS WHELEN CENCOM CCSRN, CCSRNTA, MPC03	\$0.00
3 HAV-C-FP-2 2" FILLER PLATE \$0.00	\$0.00
1 HAV-C-HDM-204 8.5" HEAVY-DUTY TELESCOPING \$151.80 POLE, SIDE MOUNT, SHORT HANDLE	\$151.80
1 HAV-C-MD-202 TILT SWIVEL MOTION DEVICE \$61.38	\$61.38
1 HAV-C-HDM-304 HEAVY-DUTY SLIDING TOP \$70.62 OFFSET PLATFORM, 9" OFFSET	\$70.62
1 HAV-C-LP-3 3 LIGHTER PLUG OUTLETS \$52.80	\$52.80
1 PGP-PSSP5604C11A CENTER SLIDING POLY WINDOW \$808.66	\$808.66



Date	Quote #		
3/26/2024	Q004		

Quantity	Item	Description	Install Location	Unit Price	Total
1	PGP-S56C11OSB	CHARCOAL GREY ABS, STANDARD SEAT (FEATURES STRAIGHT BACK) AND OUTBOARD SEAT BELTS		\$699.27	\$699.27
1	PGP-FP56C06	CHARCOAL GREY ABS, FLOOR PAN		\$199.45	\$199.45
1	PGP-WB56C11	PAIR, STEEL WINDOW BARS (FOR USE WITH DP56C11 ABS REAR DOOR PANEL ONLY)		\$228.80	\$228.80
1	PGP-DP56C11	PAIR, BLACK ABS, REAR DOOR PANELS (FOR USE WITH WB56C11 & WBP56C11 ONLY)		\$133.70	\$133.70
1	PGP-GVPMS-H	VERTICAL PARTITION MOUNT SINGLE WEAPON TRI-LOCK GUN RACK W/HANDCUFF KEY		\$386.82	\$386.82
1	WINDOW TINT	WINDOW TINT- NEED SPECIFICS TO FINALIZE A PRICE. THIS ASSUMES ALL WINDOWS.		\$200.00	\$200.00
30	LABOR	HOURLY RATE FOR INSTALL OF PRODUCTS NOTED		\$120.00	\$3600.00
1	MISC. NON-INVENTORY	FIRE EXTINGUISHER & BRACKET		\$110.00	\$110.00
1	GRAPHICS	CUSTOM VEHICLE GRAPHICS- NEED CUSTOMER TO SIGN OFF ON DRAWINGS		\$950.00	\$950.00
1	MISC. NON-INV ITEM	BYR-5601025 BUYERS 28FT BOOSTER CABLES W/ GRY - OUICK CONNECT		\$165.00	\$165.00
1	MISC. NON-INV ITEM	GPS ANTENNA W/ CABLE		\$165.00	\$165.00
1	MISC. NON-INV ITEM	WESTIN PUSHBUMPER ELITE WITH WRAPS & PIT BAR, SOLID CHANNEL		\$1375.00	\$1375.00
2	WHE-LINSV2B	SURFACE MT LINZ V-SERIES BLUE		\$199.20	\$398.40
1	WHE-LSVBKT35	LINZ MIRROR MT KIT		\$22.64	\$22.64

 Subtotal
 \$13,275.47

 Tax Total (0%)
 \$0.00

Total \$13,275.47

This quote uses Wheelen, Havis and Proguard parts and equipment. Istallation on up to 12 vehicles is guaranteed to occur within 18 weeks of order, or 30 days of equipment delivery, whichever comes first.



Mac McAlister Fleet Manager 2158 Washington Road NE, Thomson GA 30824 Office: 706-986-5714 Cell:706-699-1624



1/4/2024

Units Balance Due	1		=07,F% T		\$39,959.00
Tag					
DOC					
Sub Total					\$00,000.00
					\$39,959.00
Options Total					
Available Opti	ions				
				included in price	
	eft LED Spot Lamp	4 Additional Key Fobs		Included in price	
	et Seats W/Rear Vinyl	Deactivate Rear Doors/Windows		Included in price	
	NT Engine Upg I w/ESS	8-Spd Auto 850		included in price	
Options Includ	ded				
Sale Price					\$39,959.00
MSRP					\$44,350.00
			ACV:		
Mileage:			Mileage:		
Stock #:			Stock #:		
VIN:			VIN:		
Color	SILVER AND DESTROYS	R GRAY	Color:		
Year:		····-	Year:		
Make:	DODGE DURANGO PURSUIT V6	AWD	Model:		
Balan	DODGE		Make:		
Fax:		L	I d.A.		
Phone:		-	Fax:		
			Phone:		
	AUGUSTA GA 3	30901	-		
	535 TELFAIR STREET SI	JITE 800	-		
	AUGUSTA GEORGIA				

Manager



Durango (1)
Quote

Date	Quote #		
3/28/2024	Q005		

Sales Rep

Bill To

Augusta-Richmond County Augusta, GA 30901

Title

Memo

**Ship To** 

Augusta-Richmond County 535 Telfair St. Augusta, GA 30901

**Expiration Date Unit/VIN** 

	RICHMOND COUNTY LT PATROL	Net 30	4/27/2024	LT PATROL	Scott Peebles
Quantity	Item	Description	Install Location	Unit Price	Total
1	WHE-BSFW44Z	I-E FST WCX S/D 10-LT DURANGO **BLUE/WHITE**		\$1,210.00	\$1,210.00
1	WHE-BS44Z	I-E RST WCX 10-LT S/D DURANGO **BLUE/AMBER**		\$1,210.00	\$1,210.00
1	WHE-C399S	CENCOM CORE REMOTE SIREN		\$935.00	\$935.00
1	WHE-C399RK3	OBDII CANPORT KIT DODGE		\$0.00	\$0.00
1	WHE-SA315P	SA315P SPEAKER, BLACK PLASTIC		\$165.00	\$165.00
1	WHE-SAK54CM	DUAL SA-315 MT KIT 13+ DURANGO		\$0.00	\$0.00
4	WHE-TLI2E	ION T-SERIES LINEAR DUO B/W		\$115.45	\$461.80
2	WHE-LINSV2B	SURFACE MT LINZ V-SERIES BLUE		\$199.20	\$398.40
1	WHE-LSVBKT44	LINSV MIRROR MT KIT DURANGO		\$22.64	\$22.64
2	WHE-PSE02FCR	STRIP-LITE+ DUO FLASHR BLU/ WHT		\$126.52	\$253.04
2	WHE-PSBKT90	STRIP-LITE+ 90 DEG MT KIT		\$18.41	\$36.82
4	WHE-VTX9E	VERTEX SUPER-LED DUO BLU/ WHT		\$87.31	\$349.24
1	HAV-C-VS-2300-DUR	VEHICLE-SPECIFIC 23" CONSOLE FOR 2022-2024 DODGE DURANGO		\$386.10	\$386.10
1	HAV-CUP2-1001	INTERNAL CUP HOLDERS		\$44.20	\$44.20
1	HAV-C-ARM-103	ARMREST FOR TOP MOUNT, CONSOLE, LARGE PAD		\$120.20	\$120.20
1	HAV-C-AP-0645-1	6" ACCESSORY POCKET, 4.5" DEEP		\$47.57	\$47.57
1	HAV-C-EB40-CCS-1P	1-PIECE EQUIPMENT MOUNTING BRACKET, 4" MOUNTING SPACE, FITS WHELEN CENCOM CCSRN, CCSRNTA, MPC03		\$0.00	\$0.00
3	HAV-C-FP-2	2" FILLER PLATE		\$0.00	\$0.00

3682 Washington Road Augusta, GA 30907

**Terms** 



		-
Date	Quote #	
3/28/2024	Q005	1

Quantity	Item	Description	Install Location	Unit Price	Total
1	HAV-C-HDM-204	8.5" HEAVY-DUTY TELESCOPING POLE, SIDE MOUNT, SHORT HANDLE		\$151.800	\$151.80
1	HAV-C-MD-202	TILT SWIVEL MOTION DEVICE		\$61.38	\$61.38
1	HAV-C-HDM-304	HEAVY-DUTY SLIDING TOP OFFSET PLATFORM, 9" OFFSET		\$70.62	\$70.62
1	HAV-C-LP-3	3 LIGHTER PLUG OUTLETS		\$52.80	\$52.80
1	PGP-GVM6718S-H	SELF-SUPPORTING SINGLE WEAPON TRI-LOCK GUN RACK W/HANDCUFF KEY		\$438.29	\$438.29
30	LABOR	HOURLY RATE FOR INSTALL OF PRODUCTS NOTED		\$120.00	\$3,600.00
1	MISC. NON-INVENTORY	BYR-5601025 28FT BOOSTER CABLE		\$170.15	\$170.15
1	MISC. NON-INVENTORY	FIRE EXTINGUISHER & BRACKET		\$110.00	\$110.00
1	GRAPHICS	CUSTOM VEHICLE GRAPHICS- NEED CUSTOMER TO SIGN OFF ON DRAWINGS		\$950.00	\$950.00
				Subtotal	\$11,245.05
				Tax Total (0%)	\$0.00
				Total	\$11,245.05